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A woI=X D
A ALE LSS BH(ARISX/ 0 - 3AH)
C9l: LEMEDE U COISNEY £3 GRS
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 24,838,500
301 EtE2 NS 853,453,598 789,617,329 63,836,269
= 828,615,098
= 24,838,500
01 Al EE AL S(FRDEXA) 853,453,598 789,617,329 63,836,269
OJI=¢= K= 853,453,598
= 828,615,098
= 24,838,500
g X2 13,920 19,968 26,048
301 EtE NS 13,920 19,968 6,048
02 A2 XSG (FHAAHS, NLWE) 13,920 19,968 6,048
OF=+¢ A& 13,920
ded 29 243 A2 3,153,024 3,145,674 7,350
308 AXIHSOIA 3,153,024 3,145,674 7,350
01 HASHHBSEXS 3,153,024 3,145,674 7,350
o3dzg 244l X 2,934,3%
0Z2% &3 Z2 M 2e|Xt XA 218,628
J2g d - uEHl & 2=3H NJ(=1) 5,215,600 4,583,609 631,991
= 4,012,000
== 1,203,600
308 AXIMSOIA 5,215,600 4,583,609 631,991
= 4,012,000
< 1,203,600
01 MHHBSEEXS 5,215,600 4,583,609 631,991
OZ2Y 4 - HeH ¥ 2=2H| XA 5,215,600
= 4,012,000
= 1,203,600
Zd2Y Z9XHE 2EXA(=21) 300,000 295,008 4,992
= 150,000
=S 150,000
307 lztol & 300,000 295,008 4,992
= 150,000
== 150,000
10 Al SXAEEHE 22X 300,000 295,008 4,992
OoZ=zd FFN2HH 28N 300,000
= 150,000
< 150,000
OIS oY & =38 oM Het 35,441,331 32,308,755 3,132,576
= 761,694
= 29,504,638
< 5,114,999
LolItEEsSMEIA XIR(=1) 29,329,829 26,959,591 2,370,238
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A woI=X D
A ALE LSME SH(ARISX/ 0 - 3AH)
el oSl oY 2 =5 oMY A (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 26,980,130
=S 2,349,699
307 glztol & 154,663 150,100 4,563
= 108,265
== 46,398
10 Al SXAEEHE 22X 154,663 150,100 4,563
OLQXESSSMHIA HEI 2 XIE 154,663
= 108,265
& 46,398
308 AtAIEHMSOIE 29,175,166 26,809,491 2,365,675
[ 26,871,865
= 2,303,301
01 RSN EES 29,175,166 26,809,491 2,365,675
O QIXE==SAHIA 28 29,175,166
s 26,871,865
s 2,303,301
SSAHIA SALL 232X & AR 944,940 892,740 52,200
307 gl2to| & 5,880 5,880 0
1 AMEISXAIEEXS 5,880 5,880 0
OSSAMEIA SAHAL M2 WS 5,880
308 AtXIEHMSOIE 939,060 841,860 97,200
01 XN B EES 939,060 841,860 97,200
O=SSAHIA SAHL 2S2X 939,060
SN0l Z0je! SSUHHMMEIA 2SR (21) 3,126,205 2,460,049 666, 156
= 2,584,508
s 541,697
307 elztol & 61,990 61,778 212
= 30,99
= 30,9%
W EET N EEEEETEES 61,99 61,778 212
OS0! FoO! STOIFOrAMHIA HE
J2 X3 61,990
[ 30,99%
= 30,99
308 XXM SOIA 3,064,215 2,398,271 665,944
= 2,553,513
=S 510,702
01 XN BSELES 3,064,215 2,398,271 665,944
OSHEQ el SSAMAMAHIA 2 3,064,215
= 2,553,513
< 510,702
NELolESsMEI |2 2EXA(21) 1,276,380 1,245,640 30,740
= 638,190

— 450 -




A LIS
A ALE LSME SH(ARISX/ 0 - 3AH)
CHO OISH 0% L S OHMY 23 (Shol: % 2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 638,190
307 @20l & 1,276,380 1,245,640 30,740
2 638,190
= 638,190
10 AlRISXAEEE 22X 1,276,380 1,245,640 30,740
OXNFoESHEI |2 2SR 1,276,380
= 638,190
= 638,190
ST M EHH 2L XA(=1) 247,008 237,440 9,568
= 123,504
< 123,504
307 el2to| & 247,008 237,440 9,568
= 123,504
= 123,504
10 AlISXAZEHE 22X 247,008 237,440 9,568
ostiuli = dESHH 23X 247,008
= 123,504
= 123,504
S(F)XNBHH 2E X2 47,000 50,940 A3,940
307 glztol & 47,000 50,940 A3,940
11 AMEISXAEEES 47,000 50,940 A3,940
OS(F)XNZHH 2R 47,000
ARISRID12 SAAF XL 37,240 34,560 2,680
307 el2to| & 9,000 9,000 0
11 AMEISXAEEXS 9,000 9,000 0
O LosXJ[2 SAH M 9,000
308 AFXIEMSOIE 28,240 25,560 2,680
01 HAHHBHEXRS 28,240 25,560 2,680
OAlZ =AZ X2 SALF MM 28,240
oz dAsdHAHIA 28 X3 432,729 377,79% 54,934
308 XXM SOIA 432,729 362,79% 69,934
01 AXN B2 LS 432,729 362,795 69,934
Oolzdl FASHALEIA 28 XE 432,729
LoI=EXAE 29 & 25 N2 48,898,943 54,270,954 A5,372,011
= 1,041,522
< 47,857,421
COIEIIYYH =X 5,500 5,500
201 fet= 3| 2,200 2,200
01 At 2|l 2,200 2,200
O FINQLAAS =& 2,200
202 04| 3,300 3,300
01 =LHOLI 3,300 3,300
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2A:

M AAB LSME PE(MBI=T/ L0l - HAE)
el Le=XAE 28 2 &S N (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| owzolmlgese =3 3,300
CoI=XAE 29 5,082,426 7,017,410 1,934,984
307 el2to| & 60,840 59,040 1,800
1 MEISXAIEEXS 60,840 59,040 1,800
Ok LoSXAE SAHL SX+=& 60,840
308 AtXIEMSOIE 1,866, 161 2,539,440 N673,279
01 X SHHBAEXS 1,866, 161 2,539,440 A\673,279
OAlZ IFXAE SAHAL SX=E 1,866,161
403 X SHMSAH=01H 3,155,425 4,418,930 1,263,506
01 AXISHHA=2EXE 3,155,425 4,418,930 1,263,506
OLCINII=EXAE JIsEd 3,155,425
LZAIE 2H| X (HEAY) 3,549,442 3,309,094 240,348
308 AHXIEMSOIE 3,549,442 3,309,094 240,348
01 XN B2 LS 3,549,442 3,309,004 240,348
O2=Z A4 2ZH| XI&(HE) 3,549,442
el =sNAE 28X 38,415,136 40,192,116 1,776,980
308 AFXIEMSOIE 38,365,136 40,145,116 1,779,980
01 X SHHEAEES 38,365,136 40,145,116 1,779,980
OJI=+3kt & AIQLEE =0 X 38,365,136
403 X SHMSAH=01H 50,000 47,000 3,000
01 AR A =2 £ 50,000 47,000 3,000
OLQQAAL JIsES 50,000
Mot IS XIAIE 2EX2 28,000 23,000 5,000
403 XXM SAH=0l 28,000 23,000 5,000
01 AXISHHA 22 £ 28,000 23,000 5,000
OMII=RISXIAE JISEH 28,000
LOIQAALES(IISEY) AH(21) 1,261,036 2,574,8% /1,313,820
[ 886,322
= 374,714
403 MXIEHHSAH=201d 1,261,036 2,574,8%6 A1,313,820
= 886,322
= 374,714
01 AXISHHA=2EE 1,261,036 2,574,856 1,313,820
LOIQUALE E#F(0ISEY) 711,113
s 418,302
T 292,811
OLRAAE S (XIMHEEEH) 549,923
[ 468,020
= 81,903
HIQLLAX ALY 2HXA(21D) 116,000 110,000 6,000
= 58,000
= 58,000
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A woI=X D
A ALE SME SH(AMESA/ 0 - H
ool LoISKAL 29 ¥ &5 X o @e)
SA - ZE - BR(3) - HRA - B of v A 2
308 XXM SOl 116,000 110,000 6,000
= 58,000
== 58,000
18 SIS0t HAS A 116,000 110,000 6,000
OZEHIQUYRIXAME 28X 116,000
= 58,000
& 58,000
HIQLQAXAME 2435+ X3 (KHA) 255,263 191,490 63,773
308 AXIHMSO0IA 226,663 191,490 35,173
13 S [2S0He & EAS A 226,663 191,490 35,173
OLAFIIQYLAXIAHE 2435t X 226,663
402 QIF X201 & 28,600 28,600
01 QI X2 AL EE (KEMITHE) 28,600 28,600
OJIs2% XJ 28,600
FJ1UD|2 B EX A(=21) 165,240 0 165,240
[ 97,200
S 68,040
403 AXIEHMSA=0l1d 165,240 0 165,240
[ 97,200
= 68,040
01 XISHH A =2 165,240 0 165,240
LOIEIIRATIZ BIIAE EXIAY 165,240
= 97,200
= 68,040
LRIEXAE AlEe/H HEEH 2H 7,000 7,000 0
201 Ler2&| 2,800 2,800
03 A=Y 2,800 2,800
OAld2H HEHH 24 2,800
301 EetE2 N = 4,200 4,200
11 #AIAHIXIE S 4,200 4,200
OANld2H HEHH 2 4,200
MNEISXIAIE Bt 13,900 13,900
201 223 13,900 13,900
01 At22telt] 13,900 13,900
OLQI=XIAIE Eot 13,900
& FAR2s e 2 AL =25 4,102,500 4,144,040 241,540
= 3,339,000
[ 763,500
28 AL EXI(=21) 4,064,500 4,087,350 A32,850
[ 3,339,000
= 715,500
403 AXIEHMSA=Z01d 4,004,500 4,087,350 A32,850
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2A:

A ALE LSME SH(ARISX/ 0 - 3AY)
Rl JA BAIRS 29 2 AE =5 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 3,339,000
=S 715,500
01 AXISHHA=2 2L 4,064,500 4,087,350 A32,850
OFANE &F 4,064,500
= 3,339,000
< 715,500
JEEENT SE&d N2 48,000 48,000
308 AHAIEHMSOIE 48,000 48,000
01 HAHHBAEXS 48,000 48,000
ORI & MASES 3E&d X 48,000
Hzalgdiiel 2 o HFE(ASK/ el - FAaHE) 166,788,872 123,626,430 43,162,442
= 135,307,025
Jl 5,071,000
S 26,410,847
colgdiie] FEN ASEH 160,948,590 116,912,814 44,035,776
= 135,307,025
== 25,641,565
Lolgdrtel & AlslEs X (=31) 160,948,590 116,867,485 44,081,106
= 135,307,025
< 25,641,565
308 AXIHSO0IA 160,948,590 116,867,485 44,081,105
= 135,307,025
= 25,641,565
01 HAHHBSEERS 160,948,590 116,867,485 44,081,106
oozl =& 163,849,390
= 128,207,825
= 25,641,565
oA dgele N3 7,099,200
= 7,099,200
100AIAITH, O1Z2AIL eI ALS 5,840,282 6,713,616 A\873,334
Jl 5,071,000
= 769,282
AT =2 35,200 36,070 130
201 er23| 12,200 12,070 130
01 At2teltl 4,200 4,200 0
OS2I =& 4,200
03 A= I 8,000 7,870 130
oozaL el EIHHE 8,000
202 04| 3,000 3,000
01 2LHA b 3,000 3,000
ONZAEXIeIAY =X 3,000
303 Zai= 20,000 20,000 0
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2A:

LoI=XI1t

ZE: o2aANR BB Y HE(MESK/ =0 - HA
2l 100HIAITH, OI2AIYXI2IAMS (SHol: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 &= 20,000 20,000 0
O XteIAI EIHH 2 20,000
(SUES)I00MAILH =282 X2(21) 5,071,000 5,290,000 /219,000
) 5,071,000
308 AtXIEMSO0IH 5,071,000 5,290,000 A219,000
Jl 5,071,000
01 X SHHBAEXS 5,071,000 5,290,000 219,000
OZ2d8s H2aLREIAY =& 5,071,000
Il 5,071,000
(FILE)00MAI 28X 55,941 57,073 A1,132
307 @20l & 36,741 36,673 68
1 AMISXAEEXS 36,741 36,673 68
OFgE ALY F=d 36,741
308 AFAIEHMSOIE 19,200 20,400 1,200
01 AXEH B EES 19,200 20,400 1,200
OFYE o=2aedeIAr =a 19,200
(QIEIS)100MIAICH 22Xt 458,141 891,473 A433,332
307 glztol & 458,141 891,473 A433,332
11 AMEISXAIEEXE 458,141 891,473 N\433,332
OCIEE o=alditelAg F=a 458,141
(S3H) 100AIAICH oi2 a1 Rtel 200,000 210,000 10,000
308 AXIHSO0IA 200,000 210,000 10,000
01 HASHHBSEEXS 200,000 210,000 10,000
OSate o2adielAg = 200,000
AMUOZEE JIs22 X 20,000 0 20,000
403 AXIEHHSAH=201H 20,000 20,000
01 AXIEHM A =2 £ 20,000 20,000
OAILIOIZE JIsEd XI& 20,000
SIMMZOIA ABIEN K (ARISR/ =) 1,151,093 2,051,685 A900,592
[ 176,017
= 975,076
sS4 A=l ABIA 2 1,151,093 2,051,685 A900,592
[ 176,017
= 975,076
Alsd ZEE axel NJ(=1) 362,034 1,342,410 A990,376
= 176,017
=S 176,017
101 @124H| 362,034 0 362,034
= 176,017
== 176,017
MU IRIMZENSES 362,034 0 362,034
odlsd g5gL el Xd 362,034
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